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=&l 1,250,000& » 2% » 12& 30,000
=&l 100,000& = 2% * 63l 1,200
on=tl 15,300
-RLS 100,000& * 18Y =* 23] 3,600
-8 = 150,000& * 18%H 13/ 2,700
-H=s= 100,000& * 18%H 13/ 1,800
-2s3t 100,000& * 18H 13/ 1,800
-S43 300,000& = 9% * 23| 5,400
OagAHM ==l 4,000
-= & 2,000,000& = 13 2,000
-HILIA 2,000,000& * 12/ 2,000
S g 15,000
HNEFAIR 378,000,000& * 1/12 31,500
4= 2 = dEa= 7,675
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SN
X XH .
S Tt

el

a2y
URIEXS Y HEBHS S4
Sads Y2 ¢ 84

20
B
2

O&d=Uz Lot 500,000& = 42| 2,000
MEYSZZIH 2F 266,203 255,203 11,000
p) 106,076
S 9,751
= 150,376
MEHSWA 2 8,423 8,423 0
307 G12+0l & 8,423 8,423 0
02 2I2tda2x 8,423 8,423 0
OdEsNe 2¢ 8,423
AN dEdsos ) 8,250 8,250 0
307 2120l A 8,250 8,250 0
02 It aEx 8,250 8,250 0
O&= M=slst 24 4,500
Oddsg M= 3,750
ALHE(SE) DA 2 1,800 1,800 0
307 2120l & 1,800 1,800 0
02 23 AEX 1,800 1,800 0
OHYME(HE) na2dE  150,0008 * 128 1,800
MEYSXEZX HHXI 24,378 24,378 0
S 9,751
s 14,627
307 2120l & 24,378 24,378 0
S 9,751
= 14,627
02 YIS ExX 24,378 24,378 0
OsE=L HENSXNZA B
24,378,000& * 1 24,378
S 9,751
= 14,627
MM HEHMSX A B 146,496 146,496 0
Il 73,248
a 73,248
307 2120l & 146,496 146,496 0
Il 73,248
= 73,248
02 BIAAYEX 146,496 146,496 0
OXLH M=K =X Xl
20,928,000& = 7¢& 146,496
p) 73,248
= 73,248
Oza dH HEM=A=A Xl 41,856 41,856 0
p) 20,928
= 20,928




SN 252
Ha: AEXS L MEHS S4
Cel MEXSTR Y 29 (e
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o HRs2
307 2I2+0IH 41,856 41,856 0
| 20,928
2 20,928
02 QIHHARE 41,856 41,856 0
O0l24 HMUM MEMSKEK th
20,928,008 * 2% 41,856
| 20,928
2 20,928
0210l ZTRA 2 5,000 5,000 0
307 212+0IH 5,000 5,000 0
02 DIRIAMBE 5,000 5,000 0
ORI0IZT DA 29 5,000
ATE G2 7,000 6,000 11,000
| 11,900
= 5,100
301 YA 7,000 6,000 11,000
o] 1,900
2 5,100
01 ASIBEE 463 17,000 6,000 11,000
OAZZHRH +2E UL 82 X2 17,000
| 11,900
2 5,100
Y2E0t2] 2YDA 13,000 13,000 0
307 212+0IH 3,000 13,000 0
02 QIAAMBE 13,000 13,000 0
OL2SO0l DY 29 13,000
MEHE 2XN 250,300 239,000 11,300
ESCUHNSHE 28 Y 163,000 153,000 10,000
307 2I2+0IH 163,000 153,000 10,000
04 QIABALRE 163,000 153,000 10,000
OE=STUMSHE 28 X 163,000
A= MU BF X 87,300 86,000 1,300
202 01t 6,000 2,000 4,000
01 =Ujoi ] 6,000 2,000 4,000
OMSHE LD = 6,000
203 R =AY 6,300 9,000 A2,700
03 AIHZZ RS 6,300 9,000 A2,700
OMEHSAI =7 6,300
307 2120l H 75,000 75,000 0
04 QIRABALRE 75,000 75,000 0
OF2 ¢ To9 WSS &I X 25,000
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SN 28
=L HRYE

el M=z

SA - EH .S (BH) - MBAY - B Ofl A o4 dd = HRS2
O & 04
O=s=NESHLUE &I XA 4,000
OdXOI2tEW 3 &I X 15,000
OHN223 s=MeEM=Z3=sH &I A& 25,000
OHNb3 s==&HelsotsMEMsUa &It X
el 6,000
HESAE I8t EE & 29 278,303 448,212 A 169,909
HESAIE 22 250,303 222,689 27,614
S HEH 22| 102,126 105,626 A 3,500
201 dEt24 | 59,984 57,984 2,000
01 AtR22telyl 7,200 5,200 2,000
OFLEE Y FMES 1,000
OEYXE MHE 100,000 * 53] 500
OoN=ES 100,000& * 53 500
O2x4H| M= 1,000,000& * {14! 1,000
O2di3 A 400,000& = 23] 800
OANEZE &5 250,000& = 53] 1,250
OO HIIZEA =2
150,000& * 13| 150
O=gkdy| 22l 1,000
QHEI|I&Hl EIIEA =2 1,000
02 33294l 52,784 52,784 0
OAgord &3lH| 36,000& * 13 36
Ogtstzte| A g3l 48,000& * 13 48
QMRS Z2(HER) 250,000& = 23| 500
O & & 200,000& = 12& 2,400
O Il & 2,400,000& *~ 12& 28,800
O 2 & |Xbl 10,000
OMEAIE 228 &HlIS X 2,000
oA = S At 4,000
OAlE &Y |SXd| 5,000
206 M = H| 12,400 12,400 0
01 M=ZHl 12,400 12,400 0
OHM = H 10,0002 * 100 * 33| 3,000
OHUAX A3 10,0003 * 200X 2,000
O 3| 5,000& = 200% 1,000
OXL| =&l 2 (20kg) 10,000 * 520 5,200
O& Cl 8,000& * 150m’ 1,200
307 QIz2to|H 11,242 11,242 0
05 Izt E 2 11,242 11,242 0
OROIHHIAIAE RXH| 192,500& * 12& 2,310
OOl ot& 22 180,000& * 12& 2,160
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20 20

HO

Sf2b2
SAE JigtxEd & 2F
SAIE 2el

_ _ _ N E
M- F= - S2(3H) - MRAY - BES Abod e =%
OFI| &Y HHEA 314,3002 * 122 3,772
OAgtall Sistae 250,0008 * 122 3,000
401 A EHIL20H] 18,500 24,000 A5,500
01 Al&H| 8,500 24,000 A5,500
OSSAMSHE THHT 0
6,000,0002 * 14! 6,000
022 Mz 3,000,002 * 14] 3,000
OHE BIDIRIAIE &% 3,000,0002 * 14! 3,000
OHAYY & 6,500
UNESBH2SH 2 36,939 36,939 0
201 Yer2y| 27,800 27,800 0
01 A2l 4,300 4,300 0
OHSEE 100,0008 * 10& 1,000
OFHA L MRE 125,0002 * 128 1,500
ONEE A5 200,0008 * 53] 1,000
o2¢3 BA 400,008 * 23] 800
02 BZ2YY| 23,500 23,500 0
O%+ & & 125,008 * 128 1,500
oF Il 2 13,000
OANE=H S| 5,000
OA 2 | 500
OsssHl S 500
OFMZE U Hai0iadl A 500
OFCIAI L 0I1EI BT 2,500
206 T2l 4,000 4,000 0
01 XZH| 4,000 4,000 0
O = H 10,0008 * 1008 1,000
OTCI=EHI R (20kg) 10,0002 * 300X 3,000
307 QI2H0IH 5,139 5,139 0
05 QI2tSiEra 5,139 5,139 0
OSOIAHAIAE SXH 176,008 * 128 2,112
OFIILH AHHA 137,2002 * 128 1,647
OAgtall gist2e 15,0002 * 128 1,380
HolEZH 2 5,700 5,700 0
201 LBty 5,700 5,700 0
02 B2 5,700 5,700 0
OF Il = 250,0008 * 122 3,000
O g2 100,0002 * 128 1,200
OANERH S| 1,500
==y 2el 63,000 20,000 43,000
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2A: S22
M MESAd IRy 2 2%
oS MSsSAE 22 (&9 HM

11

« IH A

r
0x
i

rz
J2

20
B
2

201 ety 7,000 7,000 0
02 2B2H| 7,000 7,000 0
O# Il 2 6,000
=23 300,0002 * 128 3,600
-%2H 200,0008 * 122 2,400
OAEFHEl S| 1,000
401 Al HIL2OHY] 56,000 13,000 43,000
01 A& 56,000 13,000 43,000
OZEH NaEs 56,000
CIZYZETH 22l 4,600 14,600 10,000
201 Lere gl 4,600 4,600 0
02 ZZ2H| 4,600 4,600 0
O# Il 2 50,0002 * 122 600
o9t 2 1,000
OA 2 K]l 1,000
OAEFHEl S| 2,000
HMSAE gxze 28,038 29,924 ~1,886
101 Q12| 21,158 22,194 A 1,036
04 JIZHIZNSES 21,158 22,194 A 1,036
OMSAIE el ¢ 21,158
-3 A 34,5608 * 5522 19,078
o ESRISPNEST= 52,0008 * 402 2,080
202 01l 6,880 7,730 £850
01 =01 6,880 7,730 850
OMSAIE Belge =X 6,880
Heze 2l 7,920 7,920 0
201 ety 7,920 7,920 0
02 2Z2H| 7,920 7,920 0
OL4 HSB 7,680
Pl 375,002 * 128 4,500
222 265,0008 * 122 3,180
oMz +=8 20,0008 + 122 240
gexay 2 1,980 1,980 0
201 Lere gyl 1,980 1,980 0
02 22| 1,980 1,980 0
OFIIZ 140,008 * 128 1,680
OFS-3-] 25,0008 * 122 300
MESAE 22 o 24 28,000 88,500 60,500
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SN 2B
ZE: MSAL JBEY © 29
ool MSAE 22 Y 24 (el &2
_ _ MNuE o
SH-EH . C(BH) - NRAY - BES O AF o8 il b o bRz
TOPE HE 10,000 10,000 0
401 AIEHILLCH] 10,000 10,000 0
01 Al 10,000 10,000 0
ORLIPH HE 10,000
SHHSAE B2 5,000 13,500 28,500
401 AIEHIL 2O 5,000 13,500 8,500
01 Al& ] 5,000 13,500 8,500
OSUHMSAE 24 1,000,000 * 54 5,000
F2E 2pd 13,000 50,000 A37,000
401 AlZHIL 2O 10,000 35,000 25,000
01 Al 10,000 35,000 25,000
OXE BATA 0,000
405 THAHFSH] 3,000 15,000 A12,000
01 RAUSEH S| 3,000 15,000 £12,000
OY2H JNDSA YO8
50,0009 * 1204 3,000
- 5S SR 1 100,420 2,015,420 ~1,915,000
S HSEZ M 100,420 115,420 A15,000
BUS H454 100,420 100,420 0
308 XX EHHISOI & 100,420 100,420 0
REPENEEES 100,420 100,420 0
OBURHSH+ 84 X2 69,600
ODMD HEE XL 30,820
BBED U NFABA 29 801,409 535,059 266,350
o] 16, 167
= 21,689
= 763,553
BEED U ol 243, 169 382,912 £139,743
| 16,167
= 21,689
2 205,313
2PN B2 74,000 134,300 60,300
201 LByl 39,000 34,000 5,000
01 ALR2lt] 39,000 34,000 5,000
OO0tECH2 &t 39,000
~APAUNE B 500 * 30,000 15,000
22N B8 2,0002 * 7,008 14,000
222 M 5002 * 20,000 10,000
202 Oft| 4,000 1,800 2,200
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S5y
22EE L NFAZA 29
2ABEL Y OHY ol M@
_ - ez
SA-EFH - SA(SAH) - MREAY - BES &hoh Ol Ak O R
OBY=HIIA M2 40,0008 = 128 480
301 YerE A 4,680 1,600 3,080
p 1,404
S 1,311
= 1,965
10 #AAHI2 &2 4,680 1,600 3,080
OS2 AZHLA DIFI}F 24
35,0008 * 9% « 83 2,520
Il 756
=3 706
z 1,058
O3z ¢ dAX A8
40,0008 * 9% * 6Y 2,160
| 648
3 605
= 907
401 Al&HI 2] 14,800 0 14,800
01 Al&Hl 14,800 0 14,800
OSS2BHEA U2 &R 14,800
VOIS OIECHE B2 Y 16,500 20,000 A3,500
53 6,600
= 9,900
201 Yer2%| 16,500 20,000 3,500
=3 6,600
= 9,900
01 A2l 16,500 20,000 3,500
OTVoig " OISCie 52" UURE U 16,500
= 6,600
T 9,900
SRAVFHOIE BSA 31,500 94,500 63,000
307 RI2HOIH 31,500 94,500 /63,000
02 PZANEE 31,500 94,500 63,000
OZS=2ABZEs ZSAY 31,500
ERABYEAS 2g3 32,000 38,832 16,832
308 XHXIEHH SOIH 32,000 38,832 16,832
05 XbXICHHI2t gt 32,000 38,832 16,832
OZSSAVZE3 ZSMY 23 32,000
~SHUYX 243 476,411 128,785 347,626
SSHAZN | - B2 102,611 105,785 A3,174
101 QI 2A4H| 7,79 12,069 N4,274
04 JINMI2NSE 7,795 12,069 £4,274
O+=z22X ol 7,79
-FEEL 35,3202 * 136 4,804
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SA: 23BBY
H: pEEY ¥ NI
€2l 2FAEE 22 (9 E2
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- (S N M) ° . (= (=3 =5 0:”/|l|,% Lsa
01 AFR22lH| 1,500 200 1,300
O2IES 1,500
02 3224l 20,240 3,000 17,240
OFANEE ¢ 20,000
O2ZANEES & 20,000&  12& 240
202 O4dl 5,000 2,400 2,600
01 =LA b 5,000 2,400 2,600
OZANEE 2e 5,000
401 AlEHIZ 2] 40,000 13,000 27,000
01 Al&H| 40,000 13,000 27,000
OHFANEE B 40,000
2&0|et 2 2 2 4,506,375 8,274,700 A3,768,325
= 1,206,000
| 500,000
& 904,500
= 1,895,875
ANZ2FX =4 337,607 6,322,240 A5,984,633
ZHE RIS (D Z2&X) 335,127 6,319,000 A5,988,873
401 AlEHIZ 2 335,127 6,319,000 25,983,873
02 Zeldl 335,127 141,000 194,127
OuZ2HRNEd 335,127
dZ22X 2el 2,480 3,240 AT60
202 O4H| 2,480 3,240 AT60
01 =LA bI 2,480 3,240 AT60
o e =& 2,480
SHAMER =4 3,015,000 1,317,000 1,698,000
= 1,206,000
& 904,500
= 904,500
SHAxEs=sa HE 3,015,000 1,317,000 1,698,000
& 1,206,000
& 904,500
= 904,500
401 AIEHIZ 2 3,015,000 1,317,000 1,698,000
= 1,206,000
= 904,500
i 904,500
01 Al&H| 3,005,000 1,245,500 1,759,500
O XNMEgssa 2 3,005,000
= 1,202,000
& 901,500
= 901,500
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SN 252D
E: BRIIY 2B U e
el BXREE X4 (el &2
_ _ _ N E
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Gl o HRs2
03 AIZ R0l 10,000 4,500 5,500
OB XHELSE AL ALY 10,000
= 4,000
= 3,000
= 3,000
22X AL 1,153,768 635,460 518,308
| 500,000
i 653,768
S EE =4 1,082,000 0 1,082,000
Il 500,000
= 582,000
401 A &EHIL 201 1,082,000 0 1,082,000
Il 500,000
2 582,000
01 Al 1,082,000 0 1,082,000
O=0I0Jt €& =4 1,082,000
DIRANEN Y ZLHHE B 82,000
=0t HEH =4 1,000,000
Il 500,000
2 500,000
oA SdlZ2 &4 21,768 0 21,768
401 AIEBIL 2O 21,768 0 21,768
01 Al&H| 21,768 0 21,768
ORI S =4 21,768
“JI2ZAEHES 21,768
2HHA =EE 50,000 0 50,000
401 A EHIL 201 50,000 0 50,000
01 Al 50,000 0 50,000
O A =T 50,000
SHEE 741,292 702,320 38,972
NA=H ALK 741,292 702,320 38,972
HALEH 2 & 7R 5,000 20,000 A 15,000
201 LBt 3| 5,000 5,000 0
02 2zl 5,000 5,000 0
O8I 22| 5,000
A&DF==H 560,000 512,000 48,000
207 ANl 20,000 20,000 0
01 HESHI 20,000 20,000 0
ODEEH It 89 20,000
307 BI2H0IH 500,000 452,000 48,000
04 DIZHSHALE X 500,000 452,000 48,000
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Ha: SHTE
ool NAER BAK 2 (el @)
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
OUMDEER 500,000
401 AE6IL 20 40,000 40,000 0
04 B AFZHRIAI A 40,000 40,000 0
OBAME 24E A& - I &3 40,000
1201 1#AL NI 151,000 151,000 0
307 212+0| & 151,000 151,000 0
04 DIZFHAIEE 151,000 51,000 0
0120 18AF X2 151,000
~WASRI0 & DY BIOIY BE2TF 20,000
22 ZXEA 12,000
RSOl BOIS2EK 12,000
-oIE YA 2,000
~E MUY BOIS 2R 2,000
~2Y BOIY2EA 2,000
-HAE BERHSH 18,000
~HOIHOl SIS 2EK 15,000
-Al2leiel B S 2 &K 13,000
—AS0D BB 2,000
28 2 WSl 13,000
M2y o e 5,292 4,320 972
202 0fH| 5,292 4,320 972
01 =Uj0i | 5,292 4,320 972
O=RYS =& 5,292
SUOIEH N 15,000 15,000 0
307 2120/ & 15,000 15,000 0
04 DIZHAIBE 15,000 15,000 0
OSYOI=N X 15,000
L TAIS X2 5,000 0 5,000
307 2120/ & 5,000 0 5,000
04 QIISALR X 5,000 0 5,000
OM38l &= o ®AIS| HE 5,000
HHSAAY (222D 119,177 115,122 4,085
olz2 Y (222D 79,853 82,006 ~2,153
01| (2522 D) 79,853 82,006 ~2,153
101 Q1248 79,853 82,006 ~2,153
01 B4 51,140 55,175 A4,085
OSBIBZI AL (2542} 51, 140
02 JIEIRB % 8,726 8,220 506
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